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4. [03-201] for tresyttan 9o kall  £.p 40

3/201 Determine the value of the coefficient of restitution
\ e for which the outgoing angle is one-half of the incoming
l:\l(ﬁDS@-—ﬂ“@ angle 6 as shown. Evaluate your general expression for
6 = 40°.
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3/142 A 75-g projectile traveling at 600 m/s strikes and
becomes embedded in the 50-kg block, which is initially
stationary. Compute the energy lost during the impact.
Express your answer as an absolute value |AE| and as a
percentage n of the original system energy E.
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